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1. ¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄U Á‹πŸÊ •Ê⁄¥U÷ ∑§⁄UŸ ‚ ¬„‹ •Ê¬ ß‚ ¬ÈÁSÃ∑§Ê ∑§Ë ¡Ê°ø
∑§⁄U∑§ ‚ÈÁŸÁ‡øÃ ∑§⁄U ‹¥ Á∑§ ß‚◊¥ ¬Í⁄U ¬Îc∆U (24) „Ò¥ ÃÕÊ ∑§Êß¸ ¬Îc∆U ÿÊ
©‚∑§Ê ÷Êª ∑§◊ ÿÊ ŒÈ’Ê⁄UÊ ÃÊ Ÿ„Ë¥ •Ê ªÿÊ „Ò–  ÿÁŒ •Ê¬ ß‚ ¬ÈÁSÃ∑§Ê ◊¥
∑§Êß¸ òÊÈÁ≈U ¬Ê∞¥, ÃÊ Ãà∑§Ê‹  ß‚∑§ ’Œ‹ ŒÍ‚⁄UË ¬ÈÁSÃ∑§Ê ‹–

2. •Ê∞◊•Ê⁄U ©ûÊ⁄U-‡ÊË≈U ¬˝‡Ÿ ¬ÈÁSÃ∑§Ê ◊¥ „Ë ©¬‹éœ ⁄U„ªË–  ∑Î§¬ÿÊ ‚ÈÁŸÁ‡øÃ
∑§⁄¥U Á∑§ •Ê∞◊•Ê⁄U ‡ÊË≈U ‚¥ÅÿÊ •ÊÒ⁄U ¬⁄UËˇÊáÊ ¬ÈÁSÃ∑§Ê ‚¥ÅÿÊ ‚◊ÊŸ „Ò¥–
•Ê∞◊•Ê⁄U ‡ÊË≈U ¬⁄U ¡ÊŸ∑§Ê⁄UË ÷⁄UŸ ‚ ¬„‹ •Ê∞◊•Ê⁄U ‡ÊË≈U ¬⁄U ¿U¬
ÁŸŒ¸‡ÊÊ¥ ∑§Ê äÿÊŸ ‚ ¬…∏¥–  •Ê¬∑§Ê •Ê∞◊•Ê⁄U ©ûÊ⁄U-¬òÊ∑§ ¬⁄U ‚÷Ë Áflfl⁄UáÊÊ¥
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∑§⁄UŸ ‚ ¬„‹ •Ê¬∑§Ê •Ê∞◊•Ê⁄U ©ûÊ⁄U-¬òÊ∑§ ¬⁄U ÁŒÿ ª∞ ÁŸœÊ¸Á⁄UÃ SÕÊŸ
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Áfl∑§À¬ „Ë ‚„Ë ©ûÊ⁄U „Ò–  ÿÁŒ •Ê¬∑§Ê ∞∑§ ‚ •Áœ∑§ Áfl∑§À¬ ‚„Ë ‹ª¥ ÃÊ
‚’‚ •Áœ∑§ ©ÁøÃ ∞∑§ Áfl∑§À¬ ∑§Ê øÈŸÊfl ∑§⁄¥U •ÊÒ⁄U ©ûÊ⁄U ‡ÊË≈U ◊¥  ‚ê’¥ÁœÃ
¬˝‡Ÿ ∑§ ‚Ê◊Ÿ flÊ‹ ©¬ÿÈÄÃ ªÊ‹ ∑§Ê ∑§Ê‹Ê ∑§⁄¥U–

4. ¬˝àÿ∑§ ‚„Ë ©ûÊ⁄U ∑§ Á‹∞ 1 •¥∑§ ÁŒÿÊ ¡Ê∞ªÊ–  ª‹Ã ©ûÊ⁄U ∑§ Á‹∞ ∑§Êß¸
Ÿ∑§Ê⁄UÊà◊∑§ •¥∑§Ÿ Ÿ„Ë¥ „Ò–

5. ªÊ‹ ∑§Ê ∑§Ê‹Ê ∑§⁄UŸ ∑§ Á‹∞ ∑§fl‹ ∑§Ê‹/ŸË‹ ’ÊÚ‹ åflÊß¥≈U ¬UŸ ∑§Ê ¬˝ÿÊª
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•ŸÈ◊ÁÃ Ÿ„Ë¥ „Ò–  ÿÁŒ Á∑§‚Ë ¬˝‡Ÿ ∑§ ‚Ê◊Ÿ ∞∑§ ‚ íÿÊŒÊ ªÊ‹ ∑§Ê‹ Á∑§ÿ
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•ŸÈÁøÃ ©¬ÊÿÊ¥ ∑§Ê ¬˝ÿÊª ◊ÊŸÊ ¡ÊÿªÊ •ÊÒ⁄U ©Ÿ∑§ ÁflL§h ∑§Êÿ¸flÊ„Ë ∑§Ë
¡Ê∞ªË, Á¡‚◊¥ ©Ÿ∑§Ë ©ê◊ËŒflÊ⁄UË ⁄Ug ∑§⁄UŸÊ ÷Ë ‡ÊÊÁ◊‹ „Ò–

9. •èÿÕË¸ •¬ŸË ©ûÊ⁄U ¬ÈÁSÃ∑§Ê ¬ÿ¸flˇÊ∑§ ∑§Ê ‚ÊÒ¥¬ Á’ŸÊ •ÊÒ⁄U •¬Ÿ ⁄UÊ‹
Ÿ¥’⁄U ∑§ ‚Ê◊Ÿ ©ÁøÃ SÕÊŸ ¬⁄U ©¬ÁSÕÁÃ ¬òÊ∑§ ¬⁄U „SÃÊˇÊ⁄U Á∑§∞ Á’ŸÊ
¬⁄UËˇÊÊ „ÊÚ‹/∑§ˇÊ ‚ ’Ê„⁄U Ÿ„Ë¥ ¡Ê ‚∑§ÃÊ–  ß‚∑§ •‹ÊflÊ •èÿÕË¸ ∑§Ê
©¬ÁSÕÁÃ ¬òÊ∑§ ¬⁄U „SÃÊˇÊ⁄U ∑§⁄UŸ ‚ ¬„‹ ÿ„ ÷Ë ‚ÈÁŸÁ‡øÃ ∑§⁄UŸÊ
øÊÁ„∞ Á∑§ ’È∑§‹≈U Ÿ¥’⁄U, ’È∑§‹≈U ‚Ë⁄UË¡ •ÊÒ⁄U •Ê∞◊•Ê⁄U ©ûÊ⁄U ¬ÈÁSÃ∑§Ê
‚¥ÅÿÊ ‚„Ë …¥Uª ‚ Á‹πË ªß¸ „Ê–  ∞‚Ê ŸÊ ∑§⁄UŸ ¬⁄U, •Ê∞◊•Ê⁄U ©ûÊ⁄U
¬ÈÁSÃ∑§Ê ∑§Ê •◊Êãÿ ◊ÊŸÊ ¡Ê∞ªÊ/◊ÍÀÿÊ¥∑§Ÿ Ÿ„Ë¥ Á∑§ÿÊ ¡Ê ‚∑§ÃÊ „Ò–

1. Before you start to answer the questions you must check this booklet
and ensure that it contains all the pages (24) and see that no page or
portion thereof is missing or repeated.  If you find any defect in this
Booklet, you must get it replaced immediately.

2. OMR Answer-Sheet is within the Question Booklet. Please
ensure OMR Answer-Sheet number and Test Booklet No. of
Question Paper are same. Read the instructions printed on
OMR Answer-Sheet carefully before filling the information
on the OMR Answer-Sheet. You must complete and code all
the details on the OMR answer sheet correctly, failing which
your answer sheet may not be evaluated. You must also put
your signature on the OMR Answer-Sheet at the prescribed
place before you start answering the questions. These
instructions must be fully complied with, failing which, your
OMR Answer-Sheet may not be evaluated.

3. This booklet consists of 100 Multiple Choice Questions and are printed
in Hindi and English language.  Each question has 4 (four) alternatives
(A), (B), (C) and (D).  In case if you find more than one correct
answer, then choose the most appropriate single option and darken
the appropriate circle in the answer sheet against the related question.

4. For each correct answer One mark will be given and no negative
marking for incorrect answer.

5. Use Black/Blue ball point Pen to darken the circle.  Answer once
darkened is not allowed to be erased or altered.  Against any question
if more than one circle is darkened, machine will allot zero mark for
that question.

6. Do not fold answer sheet in any case.

7. No rough work should be done on the Answer-Sheet.  Space for
rough work has been provided in this booklet.

8. Mobile phones and wireless communication devices are completely
banned in the examination hall/rooms.  Candidates are advised not
to keep mobile phones/any other wireless communication devices
with them even in switched off mode, in their own interest.  Failing to
comply with this provision will be considered as using unfair means in
the examination and action will be taken against them including
cancellation of their candidature.

9. Candidate should not leave the examination hall/room
without handing over his/her Answer-Sheet to the invigilator
and without signing on the attendance sheet at proper place
against your roll number.  Further candidate should also
ensure that booklet no., booklet series and OMR Answer-
Sheet No. are correctly written on attendance sheet before
signing on it, failing in doing so, may lead to disqualification/
no evaluation of OMR Answer-Sheet will be done.

  ©ê◊ËŒflÊ⁄UÊ¥ ∑§ Á‹∞ •ŸÈŒ‡Ê   Instructions to the Candidates

©ê◊ËŒflÊ⁄U ∑§Ê ŸÊ◊/Name of Candidate : ________________________ ©ê◊ËŒflÊ⁄U ∑§ „SÃÊˇÊ⁄U/Signature of Candidate : ___________________
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1. “w3-border-0” w3.css कॕ लिए एक बॗ ड्र रॗपटी ऻॖ, लनन मं ऺॕ कग़न ऺा ऺय ऻॖ ? 

 (A) इऺकी अॠ्ाकार  ऺीमाएॠ  ऻं   

 (B) ऺभी ऺीमाओॠ को ऻटा दॕता ऻॖ 

 (C) कॕशि अॠ्ाकार ऺीमाओॠ को ऻटाता ऻॖ  

 (D) इनमं ऺॕ कोई नऻी ॠ 
  “w3-border-0” is a border property for w3.css, which of the following is true ? 

 (A) It has rounded borders 

 (B) removes all borders 

 (C) removes rounded borders only 

  (D) None of these  

 

2. "w3-row-padding" एक लाऺ ऻॖ जो पररभालित करता ऻॖ : 

 (A) 8px बाएँ और दाएँ पॖल ॠ्ग कॕ ऺाथ उतरदायी शगं कॕ लिए कॠ टॕनर,  

 (B) लबना पॖल ॠ्ग कॕ उतरदायी कॕ लिए कॠ टॕनर। 

 (C) पॖल ॠ्ग कॕ ऺाथ उतरदायी शगं कॕ लिए कॠ टॕनर 

 (D) इनमं ऺॕ कोई नऻी ॠ 
  “w3-row-padding” is a class which defines : 
 (A) Container for responsive classes, with 8px left and right padding       

 (B) Container for responsive  classes with no padding 

 (C) Container for responsive classes with padding 

 (D) None of these 

 

3. HTML कॕ लिए ऺय या ऻॖ ? 

 (A) इऺका उपयोग ्थथर शॕब पॕजोॠ को ल्जाइन करनॕ कॕ लिए लकया जाता ऻॖ।  

 (B) इऺका उपयोग गलतषीि शॕब पॕजोॠ को ल्जाइन करनॕ कॕ लिए लकया जाता ऻॖ।  

 (C) (A) और (B) दोनोॠ ऺय ऻं 

 (D) कोई भी ऺय नऻी ॠ ऻॖ 

 What is true for HTML ? 

 (A) It is used to design static web pages.  

 (B) It is used to design dynamic web pages  

 (C) Both (A) and (B) are true  

 (D) None is true   
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4. शॕब पॕज कॕ लिए कोल ॠ्ग करतॕ ऺमय HTML मं टॖस का उलित रम ऻॖ : 

 (A) < HTML >, <TITLE>, <BODY>, <HEAD>  

 (B) <HEAD>, <HTML>, <TITLE>, <BODY>     

 (C) <HTML>,<HEAD>,<TITLE>,< BODY>   

 (D) <HTML>, <HEAD>, <BODY>,  <TITLE> 

 The proper sequence of tags in HTML while coding for a web page is : 

 (A) < HTML >, <TITLE>, <BODY>, <HEAD>  

 (B) <HEAD>, <HTML>, <TITLE>, <BODY>     

 (C) <HTML>,<HEAD>,<TITLE>,< BODY>   

 (D) <HTML>, <HEAD>, <BODY>,  <TITLE> 

 

5. अगर आपको िगता ऻॖ लक शॕररएबि का मान बदि ऺकता ऻॖ तो कग़न ऺा कीश ड् इतॕमाि लकया जाता ऻॖ ? 

 (A) Var   (B) Const   (C) Let                (D) nothing 

 If you think the value of the variable can change then which keyword is used ?   

 (A) Var   (B) Const   (C) Let                (D) nothing 

 

6.  CSS मं आपकी ऺामरी की दो पॠ्ियोॠ कॕ बीि का अॠतर लनन वारा लनधाडररत लकया जाता ऻॖ : 

 (A)   min-height property   (B) line-height property 

 (C) max-height property     (D) इनमं ऺॕ कोई नऻी ॠ 
 In CSS the difference between two lines of your content is set by : 

 (A)   min-height property   (B) line-height property 

 (C) max-height property     (D) none of these 

 

7. <style> 

 #myHeader { 

 background-color: lightblue; 

 color: black; 

 padding: 40px; 

 text-align: center; 

 } 

 </style> 

 ऊपर की कोड लाइन मं # द्ााता ह ै: 
 (A) an id tag  (B) class name  (C) an universal tag  (D) horizontal frame   

 <style> 

 #myHeader { 

 background-color: lightblue; 

 color: black; 

 padding: 40px; 

 text-align: center; 

 } 

 </style> 

 The # in the above lines of code represents: 

 (A) an id tag  (B) class name  (C) an universal tag  (D) horizontal frame   
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8. श ड् शाइ् शॕब या ऻॖ ? 

 (A) ऺॗटशॕयर जो इॠटरनॕट को लनयॠलित करता ऻॖ।  

 (B) इॠटरनॕट का दॐ ऺरा नाम। 
 (C) इॠटरनॕट पर उपिध इॠटरकनॕटॕ् शॕबपॕजोॠ कॕ लिए लऺटम। 
 (D) उपरोि ऺभी 
 What is the World Wide Web ? 

 (A) Software that controls the internet. 

 (B) Another name for the internet.  

 (C) System for interconnected WebPages which are accessible over the internet. 

 (D) All of the above 

 

9. लननलि्ित HTML टॖग का उपयोग इॠटरनि CSS घोलित करनॕ कॕ लिए लकया जाता ऻॖ ? 

 (A) <style>  (B) <Head>  (C) <link>  (D) <Script>  

 Following HTML tag is used to declare internal CSS : 

 (A) <style>  (B) <Head>  (C) <link>  (D) <Script>  

 

10. लनन मं ऺॕ लकऺ रकार का शॕररएबि कॕशि एक फॠ शन कॕ भीतर लदिाई दॕता ऻॖ जऻाॠ इऺॕ पररभालित लकया गया 
ऻॖ ? 

 (A) लोबि शॕररएबि    (B) िोकि शॕररएबि 

 (C) दोनोॠ (A) और (B)             (D) उपरोि मं ऺॕ कोई नऻी ॠ 
 Which of the following type of variable is visible only within a function where it is defined ? 

 (A) Global variable    (B) Local variable  

 (C) Both (A) and (B)             (D) None of the above  

 

11.  CSS मं गणना की अनॏमलत दॕनॕ शािा Function ऻॖ : 

 (A) calc() function (B) calculator()  (C) calculate()   (D) calcu()  

 Function that allow calculation in CSS : 

 (A) calc() function (B) calculator()  (C) calculate()   (D) calcu()  

 

12. शर ऺमायोजन का उपयोग लननलि्ित को लनयॠलित करनॕ कॕ लिए लकया जाता ऻॖ : 

 (A) छलश मं एसपोजर     (B) छलश का आकार 

 (C) छलश की लदषा     (D) उपरोि ऺभी 
 The curve adjustment is used to control the : 

 (A) exposure in the image   (B) shape of the image 

 (C) direction of the image   (D) All of the above 
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13. HTML मं लशयमान ऺभी टॖग ऻं : 

 (A) नॗन-कॕऺ ऺंलऺलटश     (B) िोअर कॕऺ 

 (C) अपर कॕऺ     (D) कॕऺ ऺंलऺलटश 

 All the tags present in HTML are : 

 (A) Non - Case Sensitive   (B) Lower Case 

 (C) Upper Case    (D) Case Sensitive      

 

14. लननलि्ित मं ऺॕ कग़न ऺी रोरालमॠग भािाएॠ  बॖक एॠ ् रयोजन कॕ लिए उपयोग की जाती ऻं : 

 (A) C#   (B) ूबी   (C) गोिॠग    (D) उपरोि ऺभी 
 Which of the following Programming languages are used for Back end purpose :  

 (A)   C#                     (B) Ruby   (C) Golang  (D) All of the above 

 

15.  CSS मं लकऺी एिीमंट का बॖकराउॠ् किर बदिनॕ कॕ लिए इतॕमाि लकया जानॕ शािा एटर ीयॐट : 

 (A) bgcolor     (B) color-bg 

 (C) bg-color     (D) background - color  

 The attribute used to change the background color of an element in CSS : 

 (A) bgcolor     (B) color-bg 

 (C) bg-color     (D) background - color  

 

16. लननलि्ित मं ऺॕ कग़न w3-कॠ टॕनर शगड ऺॕ ॠऺबॠलधत नऻी ॠ ऻॖ ? 

 (A) <section>    (B) <get> 

 (C) <blockquote>.   (D) <header>  

 Which of the following element does not belong to the w3-container class ? 

 (A) <section>    (B) <get> 

 (C) <blockquote>.   (D) <header>  

 

17. "w3-बॗ ड्र" w3.CSS तालिकाओॠ कॕ लिए उपयोग लकए जानॕ शािॕ शगड मं ऺॕ एक ऻॖ जो पररभालित करता ऻॖ: 

 (A) बॗ ड्र शािी िाइनं  (B) बॗ ड्र शािी टॕबि (C) धराषायी िाइनं  (D) इनमं ऺॕ कोई नऻी ॠ 
  “w3 - border” is one of the class used for w3.CSS tables which defines : 
 (A) Bordered lines (B) Bordered Table (C)   Dashed lines  (D) None of these  

 

18. लननलि्ित मं ऺॕ कग़न ऺॕ री शॕब राउजर ऻं ? 

 (A) ओपॕरा      (B) मोलििा फायरफॗस 

 (C) रॕश      (D) उपरोि ऺभी 
 Which of the following are free web browsers ? 

 (A) Opera     (B) Mozilla Firefox 

 (C) Brave                                            (D) All of the above  
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19. लननलि्ित मं ऺॕ लकऺ ऺॕिॕटर का उपयोग उन एलिमंट्ऺठका  ियन करनॕ कॕ लिए लकया जाता ऻॖ लजनकीठ  
एटर ीयॐटठशॖयॐ एक लनलदडट शॖयॐ  कॕ ऺाथ ऺमात ऻोता ऻॖ ? 

 (A) [attribute="value"]   (B) [attribute$="value"] 

 (C) [$attribute="value"]   (D) [attribute^ =”value”] 
 Which of the following selector is used to select elements whose attribute value ends with a 

specified value. 

 (A) [attribute="value"]   (B) [attribute$="value"] 

 (C) [$attribute="value"]   (D) [attribute^ =”value”] 
 

20. " This " एक __________ठऻॖ । 

 (A) कीश ड्      (B) फॠ शन 

 (C) Declaration Statement                (D) ्ॕटा टाइप 

  “This” is a : 
 (A) Keyword                                    (B) Function  

 (C) Declaration Statement                (D) Data Type 

 

21. AngularJS मं लनन का उपयोग करकॕ एक मॗयॐि को बनाया जा ऺकता ऻॖ : 

 (A) angularjs.module               (B) module.angular 

 (C) angular.modules                (D) angular.module 

 A module in AngularJS can be created using :    

 (A) angularjs.module               (B) module.angular 

 (C) angular.modules                (D) angular.module 

 

22. रोटोकॗि HTTP लकऺ पोटड पर काम करता ऻॖ ? 

 (A) 20   (B) 80   (C) 21   (D) 443 

 The protocol HTTP works on which port ? 

 (A) 20   (B) 80   (C) 21   (D) 443 

 

23. जाशा्िट मं अिटड () फॠ शन का उपयोग लकया जाता ऻॖ : 

 (A) शिॏडअि अिटड बॗस रदलषडत करनॕ कॕ लिए  

 (B) कॠ ऺोि पर आउटपॏट रदलषडत करनॕ कॕ लिए 

 (C) अलभय्ि का मॐयाॠकन करनॕ कॕ लिए  

 (D) (A) और (C) दोनोॠ 
 The alert() function in JavaScript is used for : 

 (A) To display a virtual alert box           

  (B) To display output on console 

 (C) To evaluate the expression 

 (D) Both (A) and (C) 
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24. CSS शॕररएबि कॕ मॐयोॠ को जोड़नॕ का कायड कऻिाता ऻॖ : 

 (A) var()   (B) rand()  (C) varchar()    (D) calc() 

 Function to insert values of a CSS variable is : 

 (A) var()   (B) rand()  (C) varchar()  (D) calc() 

 

25.  CSS मं एक रकार कॕ कॗ्िनॕटर ऻॖ : 

 (A)  >   (B) +   (C) ~   (D) उपरोि ऺभी 
 A type of combinator in CSS is : 

 (A)  >   (B) +   (C) ~   (D) All of the above 

 

26. <img src="xyz.jpg" class="w3-circle" alt="Alps">. 

 को् की उपरोि पॠ्ि मं "alt" एटर ीयॐट का उपयोग या ऻॖ ? 

 (A) यलद छलश रदलषडत नऻी ॠ ऻोती ऻॖ तो एक शॖक्िक पाठ लनलदडट करता ऻॖ  

 (B) छलश कॕ ऺाथ-ऺाथ एक शॖक्िक पाठ रदलषडत करता ऻॖ। 

 (C) कॕशि छलश रदलषडत करता ऻॖ 

 (D) इनमं ऺॕ कोई नऻी ॠ 
 <img src="xyz.jpg" class="w3-circle" alt="Alps">.  

 What is the usage of “alt” attribute in the above line of code ? 

 (A) specifies an alternate text if the image is not displayed        

 (B) displays an alternate text along with the image 

 (C) displays the image only  

 (D) None of these  

 

27. HTTP रोटोकॗि कॕ लिए लनन मं ऺॕ कग़न ऺा ऺय ऻॖ ? 

 (A) टॕटिॕऺ   (B) टॕटफॏ ि  (C) (A) और (B) दोनोॠ  (D) इनमं ऺॕ कोई नऻी ॠ 
 Which of the following is true for HTTP protocol ? 

 (A) Stateless  (B) Statefull    (C) Both (A) and (B) (D) None of these 

 

28. लकऺी छलश मं नई परतं ऻमॕषा लननलि्ित मं जोड़ी जाती ऻं : 

 (A) टॖक कॕ ऊपर     (B) टॖक कॕ नीिॕ 

 (C) टॖक कॕ बीि      (D) उपरोि मं ऺॕ कोई नऻी ॠ 
 New layers in an image are always added to the : 

 (A) Top of the stack    (B) Bottom of the stack 

 (C) middle of the stack   (D) none of the above 
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29. HTML <iframe> टॖग लनलदडट करता ऻॖ : 

 (A) एक इनिाइन रॕम    (B) एक आउटिाइन रॕम 

 (C) िॠबशत रॕम      (D) षॖलतज रॕम 

 The HTML <iframe> tag specifies. 

 (A)  an inline frame    (B) an outline frame 

 (C)  vertical frame    (D) horizontal frame   

 

30.  लनन मं ऺॕ कग़न फोटोषॗप मं लऺिॕशन टॐ ि नऻी ॠ ऻॖ ? 

 (A) Marquee  (B) Lasso  (C) Grow   (D) Reverse 

 Which of the following is not a selection tool in Photoshop? 

 (A) Marquee  (B) Lasso  (C) Grow   (D) Reverse 

 

31. लनन मं ऺॕ लकऺकॕ लिए URL जाना जाता  ऻॖ ? 

 (A) यॐलनफॗमड ररऺिड िोकॕटर    (B) यॐलनफॗमड ररऺो डऺ िोकॕटर 

 (C) यॐलनश डऺि ररऺो डऺ िोकॕटर    (D) इनमं ऺॕ कोई नऻी ॠ 
 URL stands for which of the following : 

 (A) Uniform Research Locator  (B) Uniform Resource Locator 

 (C) Universal Resource Locator           (D) None of these 

 

32. लननलि्ित टॖगोॠ मं ऺॕ लकऺका दॐ ऺरा नाम ूट एलिमंट ऻॖ ? 

 (A) <head>  (B) <BODY>  (C) < element >  (D) < HTML > 

 The root element is another name of which of the following tags ? 

 (A) <head>  (B) <BODY>  (C) < element >  (D) < HTML > 

 

33. ऺबिाइम टॕट एल्टर मं लननलि्ित मं ऺॕ कग़न ऺॕ इॠ्ंटॕषन लशकि उपिध ऻं : 

 (A) इॠ्ंट   (B) अनइॠ्ंट  (C) रीइॠ्ंट   (D) उपरोि ऺभी 
 What are the following Indentation options available in the sublime text editor : 

 (A) Indent  (B) Unindent  (C) Reindent  (D) All Of the above 

 

34. एॠ गॏिरजॕएऺ __________ वारा लशकलऺत और __________ का अनॏऺरण करता ऻॖ । 

 (A) लमको ऻॕशरी, मॗ्ि यॐ कॠ टर ोिर   

 (B) एिोन मक, मॗ्ि यॐ ्ॕटा 
 (C) लबि गॕट्ऺ, ऺलपडि मॗ्ि   

 (D) अमॕिॅन, मॗ्ि यॐ लऺटम 

 AngularJS developed by __________ and follows __________ . 

 (A) Misko Hevery, Model View Controller 

      (B) Elon Musk, Model View Data    

 (C) Bill Gates, Spiral Model 

 (D) Amazon, Model View System   
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35. ्ॗयॐमंट ऑजॕट मॗ्ि  रलतलनलधव करता ऻॖ : 

 (A) Whole HTML Document  (B) only <title> element 

 (C) <body>..</body> element  (D) उपरोि मं ऺॕ कोई नऻी ॠ 
 Document Object Model represents : 

 (A) Whole HTML Document  (B) only <title> element 

 (C) <body>..</body> element  (D) none of the above 

 

36. www पर ॐऺिना रऺाररत करनॕ कॕ लिए लकऺ रोटोकॗि का रयोग लकया जाता ऻॖ ?  

 (A) HTPP  (B) HTTP  (C) HPPT  (D) HTTTP 

 Which protocol is used to transmit information on www ? 

 (A) HTPP  (B) HTTP  (C) HPPT  (D) HTTTP 

 

37. __________ कॕ  वारा आई्ी लऺिॕटर ्ोनॕट  लकया जाता ऻॖ । 

 (A)  #      (B) 1# 

 (C) *      (D) उपरोि मं ऺॕ कोई नऻी ॠ। 

  Id selector is donated by the : 

 (A)  #      (B) 1# 

 (C) *      (D) None of the above 

 

38. बॖक यॠ् कॕ लिए लननलि्ित मं ऺॕ लकऺ रॕमशकड  का उपयोग लकया जाता ऻॖ ? 

 (A) लाक   (B) एसरॕऺ  (C) Django  (D) उपरोि ऺभी 
 Which of the following framework are used for back end ?  

 (A) Flask   (B) Express  (C) Django  (D) All of the above 

 

39. एॠ गॏिरजॕएऺ मं लननलि्ित मं ऺॕ कग़न ऺॕ लनदेष उपयोग लकए जातॕ ऻं : 

 (A) ng - app            (B) nc - init  

 (C) (A) और (B) दोनोॠ     (D) उपरोि मं ऺॕ कोई नऻी ॠ 
 Which of the following directives are used in AngularJS ? 

 (A) ng - app            (B) nc - init  

 (C) Both (A) and (B)             (D) None of the above 

 

40. लनन मं ऺॕ कग़न एक राउिर नऻी ॠ ऻॖ ? 

 (A) Chrome  (B) Firefox  (C) Google  (D) Safari 

 Which of the following is not a browser ? 

 (A) Chrome  (B) Firefox  (C) Google  (D) Safari 
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41.  *my classname 

 {  

 attributes here 

 }  

 को् की उपरोि पॠ्ि मं * दषाडता ऻॖ: 

 (A) class selector    (B) universal selector. 

 (C) id selector     (D) उपरोि मं ऺॕ कोई नऻी ॠ। 

 *my classname 

 {  

 attributes here 

 }  

 In the above line of code * represents: 

 (A) class selector    (B) universal selector. 

 (C) id selector     (D) None of the above. 

 

42. लननलि्ित मं ऺॕ कग़न ऺी w3.CSS लाऺॕऺ का उपयोग टॕट को ॠऺरॕ्ित करनॕ कॕ लिए नऻी ॠ लकया जाता ऻॖ ? 

 (A) class="w3-left-align"   (B) class="w3-right-align” 
 (C) class="w3-center-align"  (D) class="w3-center" 

  Which of the following w3.CSS classes is not used to align-text ? 

 (A) class="w3-left-align"   (B) class="w3-right-align” 
 (C) class="w3-center-align"  (D) class="w3-center" 

 

43. AngularJS मं ng-model लनदेष रदान करता ऻॖ : 

 (A) ए्िकॕषन ्ॕटा कॕ लिए ऺयापन टाइप  

 (B) ए्िकॕषन ्ॕटा कॕ लिए टॕटऺ 

 (C) HTML एलिमंट्ऺ कॕ लिए ऺीएऺएऺ लाऺॕज  

 (D) उपरोि ऺभी 
 The ng-model directive in AngularJS provides : 

 (A) type validation for application data 

 (B) status for application data 

 (C) CSS classes for HTML elements 

 (D) All of the above 

 

44. एक अलतररि बड़ी ॐऺिी रदलषडत करनॕ कॕ लिए लननलि्ित मं ऺॕ लकऺ लाऺठ का उपयोग लकया जाता ऻॖ ? 

 (A) w3-large.  (B) w3-xxlarge   (C)  w3-xlarge   (D) इनमं ऺॕ कोई नऻी ॠ 
 Which of the following classes used to display an extra large list ? 

 (A) w3-large.  (B) w3-xxlarge   (C) w3-xlarge  (D) None of these  
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45.  CSS मं HSL का या अथड ऻॖ ? 

 (A) hue, standard, lightning  (B) height, standard, line-break 

 (C) hue, saturation,  lightness  (D) hue, standard, line-width 

 HSL in CSS stands for ? 

 (A) hue, standard, lightning  (B) height, standard, line-break 

 (C) hue, saturation,  lightness  (D) hue, standard, line-width 

 

46. नोटपॖ्++ लकऺ भािा मं लििा गया ऻॖ ? 

 (A) पीएिपी   (B) पायथन  (C) C ++   (D) जाशा 
 Notepad++ is written in which language -    

 (A) PHP   (B) Python  (C) C++  (D) Java 

 

47. लननलि्ित मं ऺॕ लकऺ IDE (एकीक॑त लशकाऺ पयाडशरण) का उपयोग AngularJS कॕ लशकाऺ कॕ लिए लकया 
जाता ऻॖ ? 

 (A) ऺबिाइम टॕट (B) Eclipse   (C) लशजॏअि टॐ ल्यो  (D) यॕ ऺभी 
 Which of the following IDE's (Integrated Development Environment) are used for the 

development of AngularJS ? 

 (A) Sublime Text       (B) Eclipse     (C) Visual Studio (D) All of these  

 

48. लकऺी छलश मं गोि कोनोॠ को जोड़नॕ कॕ लिए लकऺ लाऺ का उपयोग लकया जाता ऻॖ ? 

 (A) w3-round - corner.   (B) w3-rounded.  

 (C) w3-round     (D) इनमं ऺॕ कोई नऻी ॠ 
 To add rounded corners to an image which class is used : 

 (A) w3-round - corner.   (B) w3-rounded.  

 (C) w3-round.     (D) None of these  

 

49. शॕब पॕजोॠ को ल्जाइन करनॕ कॕ लिए CSS कॕ लकऺ ूप का उपयोग लकया जाता ऻॖ ? 

 (A) इनिाइन      (B) एसटनडि 

 (C) इॠटरनि       (D) उपरोि मं ऺॕ कोई नऻी ॠ 
 The type of CSS popularly used for designing pages for websites : 

 (A) Inline      (B) External 

 (C) Internal     (D) None of the above 

 

50. आकार बदिनॕ कॕ लिए लकऺ उपकरण का उपयोग लकया जाता ऻॖ ? 

 (A) री टर ाॠऺफॗमड टॐ ि     (B) री टॐ ि 

 (C) टर ाॠऺफॗमड री टॐ ि     (D) उपरोि मं ऺॕ कोई नऻी ॠ 
 In order to change the shape which tool is used ? 

 (A) Free transform tool   (B) Free tool 

 (C) Transform Free tool                 (D) None of the above 
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51.  CSS मं टॕट का आकार कॖऺॕ बदिं ? 

 (A) फॗट-फॖमिी  (B) फॗट आकार  (C) फॗट    (D) (A) और (C) दोनोॠ 
 How to change the text sizes in CSS ? 

 (A) font-family  (B) font size  (C) font    (D) Both (A) and (C) 

 

52. लननलि्ित मं ऺॕ कग़न ऺा एक ऺिड इॠजन नऻी ॠ ऻॖ ? 

 (A) ऺफारी   (B) याू   (C) गॐगि    (D) ्क्कगो 
 Which of the following is not a search engine ? 

 (A) Safari  (B) Yahoo  (C) Google        (D) DuckDuckGo 

 

53.  w3.CSS मं "s3" लाऺ पररभालित करता ऻॖ : 

 (A) बड़ी िीनोॠ कॕ लिए 12 मं ऺॕ 3 कॗिम (िग़ड़ाई: 33.33%)  

 (B) छोटी िीनोॠ कॕ लिए12 मं ऺॕ 3 कॗिम (िग़ड़ाई: 33.33%) 

 (C) छोटी िीनोॠ कॕ लिए 12 मं ऺॕ 3 कॗिम (िग़ड़ाई: 25.00%)  

 (D) बड़ी िीनोॠ कॕ लिए 12 मं ऺॕ 3 कॗिम (ऊॠ िाई: 25.00%) 

  “s3” class in w3.CSS  defines : 

 (A) 3 of 12 columns (width:33.33%) for large screens. 

 (B) 3 of 12 columns (width:33.33%) for small screens                                  

 (C)   3 of 12 columns (width:25.00%) for small screens. 

 (D) 3 of 12 columns (height:25.00%) for large screens. 

      

54. एक िािी टॕटमंट लमिनॕ परठइॠटररॕटर __________ करॕगा । 

 (A) एक  एररठका ऺामना करॕगा   (B) टॕटमंट्ऺ को अनदॕिा करॕगा 
 (C) exceptionठरोठठकरॕगा   (D) इनमं ऺॕ कोई नऻी ॠ 
 On encountering an empty statement the interpreter will do : 

 (A) Encounters an error                     (B) Ignores the statements  

 (C) Throw exception                        (D) none of these 

 

55. जाशा्िट मं Confirm() method लकऺ ऺॕ ॠऺबॠलधत ऻॖ ? 

 (A) document  (B) window  (C) frame           (D) method 

 Confirm() method in JavaScript belongs to which method ? 

 (A) document  (B) window  (C) frame           (D) method 

 

56. लनन मं ऺॕ कग़न ऺा  w3.CSS मं उपयोग लकया जानॕ शािा ल्फॗट फॗट आकार ऻॖ ? 

 (A) Times New Roman   (B) Verdana 

 (C) Arial       (D) Segoe UI    

 Which of the following is the default font size used in w3.CSS ? 

 (A) Times New Roman   (B) Verdana 

 (C) Arial       (D) Segoe UI    
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57. ऺबिाइम टॕट एल्टर लकऺ भािा मं लििा गया ऻॖ ? 

 (A) पीएिपी     (B) पायथन 

 (C) C++       (D) (B) और (C) दोनोॠ मं 

 Sublime text editor is written in which language - 

 (A) PHP      (B) Python 

 (C) C++      (D) Both (B) and (C) 

 

58. बटन और मॐशी ्लप दोनोॠ कॕ लिए लननलि्ित मं ऺॕ कग़न ऺॕ दो ऺामाय ईशंट ऻं्िर फॠ शन का उपयोग 

लकया जाता ऻॖ ? 

 (A)   onRollOver()                  (B) onRollOut() 

 (C) (A) और (B)  दोनोॠ     (D) उपरोि मं ऺॕ कोई नऻी ॠ 
 Which of the following are two common event handler function use for both Buttons and 

Movie Clips ? 

 (A) onRollOver()    (B) onRollOut() 

 (C) both (A) and (B)    (D) none of the above 

 

59. लननलि्ित मं ऺॕ कग़न ऺा ऺऻी CSS ल ॠऺटॖस ऻॖ ? 

 (A) <h1 "color:Tomato;">...</h1>; 

 (B) <h1 style:"color=Tomato;">...</h1>; 

 (C) <h1 style="color:Tomato;">...</h1>; 

 (D) <h1 “color=Tomato;">...</h1>; 
 Which of the following is the correct CSS syntax ? 

 (A) <h1 "color:Tomato;">...</h1>; 

 (B) <h1 style:"color=Tomato;">...</h1>; 

 (C) <h1 style="color:Tomato;">...</h1>; 

 (D) <h1 “color=Tomato;">...</h1>; 
 

60. लननलि्ित मं ऺॕ कग़न ऺा रतीक एॠ गॏिर जॕएऺ मं लफटर कॕ लिए उपयोग लकया जाता ऻॖ ? 

 (A)  ||   (B) |   (C)  ^|^   (D) &|& 

 Which of the following is the symbol used for filter in AngularJS is ? 

 (A)  ||   (B) |   (C)  ^|^   (D) &|& 

 

61. यलद html मं उनकॕ लोलजॠग टॖगोॠ का उपयोग नऻी ॠ लकया जाता ऻॖ तो कग़न ऺॕ टॖग रभालशत नऻी ॠ ऻोॠगॕ ? 

 (A) <html>   (B) < hr >  (C) <br>    (D) दोनोॠ (B) और (C)   

 Which tags won’t get affected if their closing tags are not used in html ?  
 (A) <html>  (B) <hr>   (C) <br>   (D) Both (B) and (C) 
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62. Adobe Flash CS4 मं लननलि्ित मं ऺॕ कग़न ऺा ऺऻी वीन ऻॖ ? 

 (A) Classic Tween (B) Shape tweens (C) Motion Tween (D) उपरोि ऺभी 
 Which of the following is the correct Tween in Adobe Flash CS4 ? 

 (A) Classic Tween (B) Shape tweens (C) Motion Tween (D) All of the above 

 

63. यलद ऻम लशलध लशषॕिता का मान (method = “post”) to POST: पर ऺॕट करतॕ ऻं तो form की रलतलरया या 

ऻोगी : 
 <form  method="post"> ……. </form> 

 (A) ऺबलमट लकया गया फॗमड ्ॕटा यॐआरएि मं नऻी ॠ लदिाया गया ऻॖ।  

 (B) ऺबलमट लकया गया फॗमड ्ॕटा यॐआरएि मं लदिाया गया ऻॖ। 

 (C) फॗमड ्ॕटा को यॐआरएि मं, नाम / शॖयॐ पॕय डऺ मं जोड़ता ऻॖ  

 (D) इनमं ऺॕ कोई नऻी ॠ 
 What will be the response of the form if we set the value of method attribute  

(method = “post”) to POST ? 

 <form  method="post"> ……. </form> 

 (A) Submitted form data is not shown in the URL 

 (B) Submitted form data is shown in the URL      

 (C) Appends the form data to the URL, in name  /value pairs    

 (D) None of these  

 

64.  CSS मं लकऺी तव की पारदलषडता को लनलदडट करनॕ कॕ लिए लननलि्ित मं ऺॕ लकऺका उपयोग लकया जाता ऻॖ: 

 (A) अपारदलषडता   (B) लफटर  (C) ृयता   (D) अपट 

 Which of the following is used to specify the transparency of an element is in CSS : 

 (A) opacity  (B) filter   (C) visibility   (D) vague 

 

65. लननलि्ित ऑपरॕटर ">>>" दषाडता ऻॖ : 

 (A) Bitwise Right shift   (B) Bitwise Right shift with zero  

 (C) Bitwise Left shift    (D) Bitwise Left shift with zero 

 The following operator “>>>” represents :   

 (A) Bitwise Right shift   (B) Bitwise Right shift with zero  

 (C) Bitwise Left shift    (D) Bitwise Left shift with zero 



Page 15/11  M2-R5/S1/08-22 

 

66. ऺबिाइम टॕट एल्टर लननलि्ित मं ऺॕ लकऺ ऑपरॕलटॠग लऺटम कॕ अनॏूप ऻॖ : 

 (A) लशॠ्ोज   (B) लिनस  (C) MacOS  (D) उपरोि ऺभी 
 Sublime Text editor is compatible with which of the following Operating System : 

 (A) Windows  (B) Linux   (C) MacOS  (D) All Of the above 

 

67. बाऻरी CSS को ॠऺदलभडत करनॕ कॕ लिए ऺऻी लऺनटॖस __________. 

 (A) <link rel=”stylesheet” type=”text/css” href=”style.css> 

 (B) <style rel=”stylesheet” type=”text/css” href=”style.css 

 (C) (A) और (B) दोनोॠ     

 (D) (A) और (B) मं ऺॕ कोई नऻी ॠ 
 The correct syntax for referring to an external CSS ? 

 (A) <link rel=”stylesheet” type=”text/css” href=”style.css>   
 (B) <style rel=”stylesheet” type=”text/css” href=”style.css>  

 (C) Both (A) and (B) 

 (D) neither (A) nor (B) 

 

68. लननलि्ित मं ऺॕ लकऺनॕ रारॠभ मं इॠटरनॕट लशकाऺ का ऺमथडन लकया ? 

 (A) आईबीएम   (B) माइरोऺॗट  (C) अपाडनॕट   (D) इनमं ऺॕ कोई नऻी ॠ 
 Which of the following supported the initial INTERNET development ?  

 (A) IBM   (B) Microsoft  (C) ARPANET  (D) None of these 

 

69.  CSS मं टॕट मं षॖ्ो कॖऺॕ जोड़ं ? 

 (A) कॠ टंट षॖ्ो   (B) टॕट षॖ्ो  (C) श ड् षॖ्ो   (D) टॕट आउटिाइन 

 How to add shadow to text in CSS ? 

 (A) Content Shadow (B) Text Shadow (C) Word Shadow (D) Text outline 

 

70. MovieClip ऑजॕट की लननलि्ित मं ऺॕ कग़न ऺी लशलधयाँ ऻं ? 

 (A) play()   (B) stop()   (C) gotoAndplay() (D) उपरोि ऺभी 
 Which of the following are the methods of the MovieClip object ? 

 (A) play()   (B) stop()   (C) gotoAndplay() (D) All of the above 

 

71. HTML मं ल्फॗट ूप मं लकतनॕ षीिडक टॖग उपिध ऻं ? 

 (A) 2    (B) 6   (C) 4    (D) 7 

 How many heading tags are available in HTML by default ? 

 (A) 2    (B) 6   (C) 4    (D) 7 
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72. छलश कॕ कॏ छ लऻ्ोॠ को कॖऺॕ ऻटाएॠ  ? 

 (A) रॗप ॏऺलशधा का उपयोग करकॕ   (B) आकार बदिनॕ की ॏऺलशधा का उपयोग करकॕ 

 (C) रोटॕट फीिर का उपयोग करकॕ   (D) लरॠट फीिर का उपयोग करकॕ 

 How to remove parts of an image ? 

 (A) by using crop feature   (B) by using resize feature 

 (C) by using rotate feature   (D) by using print feature 

 

73.  AngularJS मं यॠजक इऺ रकार लििॕ जा ऺकतॕ ऻं : 

 (A)  {{expression}}           (B) ng - bind = “ expression ” 
 (C) (A) और (B) दोनोॠ    (D) उपरोि मं ऺॕ कोई नऻी ॠ 
  Expressions in AngularJS can be written as : 

 (A) {{expression}}           (B) ng - bind = “ expression ” 
 (C) Both (A) and (B)             (D) None of the above 

 

74. एॠ गॏिरजॕएऺ मं लनन का उपयोग करकॕ एक नया लनदेष बनाया गया ऻॖ : 

 (A) .directive     (B) .directives 

 (C) function.directive            (D) angular.directives 

 A new directives in AngularJS is created by using the : 

 (A) .directive     (B) .directives 

 (C) function.directive            (D) angular.directives 

 

75. एऺ जी एम एि (SGML)का या अथड ऻॖ ? 

 (A) Standard group markup language 

 (B) Style general markup language  

 (C) Standard generalized markup language  

 (D) Style generalized markup language     

 SGML stands for ? 

 (A) Standard group markup language 

 (B) Style general markup language  

 (C) Standard generalized markup language  

 (D) Style generalized markup language     

    

76.  लननलि्ित मं ऺॕ कग़न एक रकार की शॕब ऻो्टॠग ऻॖ ? 

 (A) षॕयर की गई ऻो्टॠग    (B) शिॏडअि राइशॕट ऺशडर 

 (C) लाउ्      (D) उपरोि ऺभी 
 Which of the following is a type of web hosting ? 

 (A) Shared hosting    (B) Virtual private server  

 (C) Cloud            (D) All of these 
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77. रॠगोॠ को और अलधक विॠत बनानॕ कॕ लिए आप लकऺ लशकि को ऺमायोलजत करंगॕ ? 

 (A) षापडनॕऺ      (B) षोर मं कमी  

 (C) ॠऺत्॑त      (D) छलश आयाम 

 __________ option you would adjust to make the colors more vivid ? 

 (A) Sharpness     (B) Noise reduction 

 (C) Saturation     (D) Image Dimensions 

 

78. www (श ड् शाइ् शॕब) का रताश लकऺनॕ लदया था ? 

 (A) लटम बनडर िी   (B) लबि गॕट्ऺ  (C) एिोन मक      (D) लबि रोज डऺ 
 Who proposed the www (World wide web) ?  

 (A) Tim Berner Lee (B) Bill Gates  (C) Elon Musk  (D) Bill Rogers 

 

79.  "w3-hover-color" लाऺ पररभालित करता ऻॖ : 

 (A) लकऺी html एलिमंट कॕ लिए टॕट ऻोशर किर।  

 (B) लकऺी html एलिमंट का रॠग। 

 (C) लकऺी html एलिमंट कॕ लिए प॑ठभॐलम ऻोशर किर  

 (D) इनमं ऺॕ कोई नऻी ॠ 
 “w3-hover-color” class defines the : 
 (A) text hover color for any html element. 

 (B) color of any html element. 

 (C) background hover color for any html elements  

 (D) None of these 

 

80. आप जाशा्िट मं लनन मं ऺॕ लकऺ तरीकॕ ऺॕ एक SCRIPT टॖग ्ाि ऺकतॕ ऻं ? 

 (A) दो बॗ्ी टॖग कॕ बीि  

 (B) दो ऻॕ् टॖग कॕ बीि 

 (C) ऻॕ् ऺॕशन मं बाऻरी फाइि कॕ लिॠक कॕ ूप मं  

 (D) उपरोि ऺभी 
 In which of the following way you can insert a SCRIPT tag in JavaScript ?  

 (A) Between two BODY tags 

 (B) Between two HEAD tags  

 (C) In the HEAD section as a link to an external file  

 (D) All of the above 



Page 18/11  M2-R5/S1/08-22 

 

81.  CSS  मं लननलि्ित मं ऺॕ कग़न लशलभन रकार कॕ रॕल्एॠ ट ऻं ? 

 (A) रॖ्िक   (B) षॠकॏ    (C) रॕल्यि   (D) उपरोि ऺभी 
 In CSS which of the following are different types of gradients : 

 (A) Linear  (B) conic   (C) Radial  (D) All of the above 

 

 

82. w3.CSS की कग़न ऺी रोपटी एक रलतलरयाषीि छलश को अलधकतम आकार तक ऺीलमत करती ऻॖ : 

 (A) max:width property   (B) image:restrict property 

 (C) max:height property    (D) image:width property  

 Which property of w3.CSS restrict a responsive image to a maximum size ? 

 (A) max:width property   (B) image:restrict property 

 (C) max:height property    (D) image:width property  

 

83. इनमं ऺॕ कग़न लशशरण ॐऺिी टॖगोॠ का रलतलनलधव करता ऻॖ ? 

 (A) <tr>, <td> <dl>,    (B) <dt>, <dl>, <d> 

 (C) <dt>, <dl>, <dd1>    (D)  <dt>, <dl>, <dd>   

 Which of these represents the description list tags ? 

 (A) <tr>, <td> <dl>,    (B) <dt>, <dl>, <d> 

 (C) <dt>, <dl>, <dd1>    (D)  <dt>, <dl>, <dd> 

 

84. W3.CSS एक मानक CSS ऻॖ लजऺमं : 

 (A) jQuery िाइरॕरी।    (B) जाशा्िट िाइरॕरी। 

 (C) (A) और (B) दोनोॠ ऺय ऻं।   (D) (A) और (B) दोनोॠ अऺय ऻं। 

 W3.CSS is a standard CSS that has : 

 (A) jQuery library.    (B) JavaScript library. 

 (C) Both (A) and (B) are true. (D) Both (A) and (B) are false.   

 

85. जाशा्िट मं लननलि्ित मं ऺॕ कग़न ऺा शॕररएबस का ऺऻी ल ॠऺटॖस ऻॖ : 

 (A) 2number     (B) my phone number 

 (C) my_phone_number   (D) इनमं ऺॕ कोई नऻी ॠ 
 Which of the following is the correct syntax of variables in javascript ? 

 (A) 2number     (B) my phone number 

 (C) my_phone_number   (D) None of these 

 

86.  एक HTML रोराम को लकऺ एसटंषन का उपयोग करकॕ ॠऺकलित लकया जा ऺकता ऻॖ ? 

 (A) .html and .ht (B) .ht and .htm (C) .html and .h (D) .htm and .html      

 An HTML program can be compiled using which extension ? 

 (A) .html and .ht (B) .ht and .htm (C) .html and .h (D) .htm and .html      
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87. AngularJS का ल ॠऺटॖस इऺ तरऻ लदिता ऻॖ : 

 (A) <div ng-app = “ “> …… </div> (B) <div nk-app = “ “> …… </div> 

 (C) <div nc-init = “ “> …… </div>  (D) उपरोि मं ऺॕ कोई नऻी ॠ 
 The syntax of AngularJS looks like : 

 (A) <div ng-app = “ “> …… </div>         (B) <div nk-app = “ “> …… </div> 

 (C) <div nc-init = “ “> …… </div>  (D) none of the above 

 

88.  W3.CSS मं एक पॖनि शगड ऻॖ जो रमषॡ लकऺी भी HTML एलिमंट मं ऊपर और नीिॕ मालजडन तथा बाएँ और 

दाएँ पॖल ॠ्ग जोड़ता ऻॖ। लननलि्ित मं ऺॕ कग़न ऺा ऺऻी  ऻॖ ? 

 (A) 16 px , 16 px, 16px, 16 px  (B) 16 px ,  20px, 14px, 14 px  

 (C)   16 px , 16 px, 14px, 14 px  (D) 14 px , 14 px, 16px, 16 px   

 W3.CSS has a panel class that adds top and bottom margin and left and right padding to any 

HTML elements respectively. Which of the following is true ? 

 (A) 16 px , 16 px, 16px, 16 px  (B) 16 px ,  20px, 14px, 14 px  

 (C)   16 px , 16 px, 14px, 14 px  (D) 14 px , 14 px, 16px, 16 px   

 

89. लनन मं ऺॕ कग़न एक इमॕज फाइि फॗमेट ऻॖ ? 

 (A) .docx   (B) .txt   (C) .pdf                  (D) .jpg 

 Which of the following is an image file format ? 

 (A) .docx   (B) .txt   (C) .pdf                  (D) .jpg 

 

90. CSS मं लकऺी एिीमंट कॕ िारोॠ ओर गोि कोनॕ बनानॕ कॕ लिए उपयोग की जानॕ शािी लशषॕिता ऻॖ : 

 (A) border-radius                           (B) border-round 

 (C) border-spacing    (D) उपरोि मं ऺॕ कोई नऻी ॠ  
 The attribute used to make rounded corners around an element in CSS is : 

 (A) border-radius                           (B) border-round 

 (C) border-spacing     (D) none of the above  

 

91. शॕ कग़न ऺॕ लशलभन तरीकॕ ऻं लजनऺॕ CSS को HTML मं जोड़ा जा ऺकता ऻॖ ? 

 (A) इनिाइन  (B) इॠटरनि  (C) एसटनडि   (D) उपरोि ऺभी 
 Different ways in which CSS one can be added to the HTML : 

 (A) Inline   (B) Internal  (C) External  (D) All of the above 
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92. रोराम का आउटपॏट दं 

 <html> 
 <body> 
 <script>   
 var number=50;//global variable   
 function a(){   
 alert(number);   
 }   
 function b(){   
 alert(number);   
 }   
 a(); 
 </script>   
 </body> 
 </html> 
 (A)   50      (B) Error 

 (C) Number     (D) उपरोि मं ऺॕ कोई नऻी ॠ 
 Give the output of the program 
 <html> 
 <body> 
 <script>   
 var number=50;//global variable   
 function a(){   
 alert(number);   
 }   
 function b(){   
 alert(number);   
 }   
 a(); 
 </script>   
 </body> 
 </html> 
 (A)   50      (B) Error 
 (C) Number     (D) None of the above 
 

93. CSS मं लटपणी लििनॕ कॕ लिए इतॕमाि लकया जानॕ शािा ल ॠऺबि ऻॖ : 

 (A)  /**/   (B) //   (C)  ##     (D) #  
 Symbol used to write comment in CSS is : 
 (A)  /**/   (B) //   (C)  ##     (D) #  
  

94. w3.CSS मं कॠ टॕनर जोड़नॕ कॕ लिए ल ॠऺटॖस : 

 (A) class ="w3-container"   (B) class = “container” 
 (C) class = “w3.container”   (D) इनमं ऺॕ कोई नऻी ॠ 
  Syntax to add containers in w3.CSS : 
 (A) class ="w3-container"   (B) class = “container” 
 (C) class = “w3.container”    (D) None of these 
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95. लनन मं ऺॕ कग़न ऺा फोटो एल्टर टॐ ि नऻी ॠ ऻॖ ? 

 (A) कॖनशा   (B) Photopea  (C) लपसॕि   (D) उपरोि ऺभी 
 Which of the following is not a photo editor tool ? 
 (A) Canva  (B) Photopea  (C) Pixel   (D) All of the above 
 

96. कग़न ऺी रोरालमॠग भािा नोटपॖ्++ वारा ऺमलथडत ऻॖ ? 

 (A) MATLAB  (B) R   (C) (A) और (B) दोनोॠ  (D) इनमं ऺॕ कोई नऻी ॠ 
 Which of the programming languages supported by Notepad++ ? 
 (A) MATLAB  (B) R   (C) Both (A) and (B) (D) None of these  
 
97. फोटोषॗप मं टोन बॖिंऺ फीिर को लशभालजत लकया गया ऻॖ : 

 (A) Shadows  (B) Midtones  (C) Highlights  (D) उपरोि ऺभी 
 Tone balance feature in Photoshop is split into: 
 (A) Shadows  (B) Midtones  (C) Highlights  (D) All of the above 
 
98. <!DOCTYPE html> 
 <html> 
 <body> 
 <h2>The name Attribute</h2> 
 <form method = “get”> 
 First name:<br> <input type="text" value="Shivansh"> <br>            
 Last name:<br> <input type="text" name="lastname" value="kumar"> <br> 
 <input type="submit" value="Submit"> 
 </form> 
 </body> 
 </html> 
 उपरोि को् मं, नॕम एटर ीयॐट गायब ऻॖ ( बो् िाइन)। नॕम एटर ीयॐट का उपयोग न करनॕ का या रभाश  

 ऻोगा ? 

 (A) उऺ इनपॏट फी् कीठशॖयॐ ऺबलमट नऻी ॠ कीठजाएगी 
 (B) उऺ इनपॏट फी् कीठशॖयॐ ऺबलमट कीठजाएगी  
 (C) उपरोि को् मं एक िॏलट लमिॕगी।  

 (D) इनमं ऺॕ कोई नऻी ॠ 
 <!DOCTYPE html> 
 <html> 
 <body> 
 <h2>The name Attribute</h2> 
 <form method = “get”> 
 First name:<br> <input type="text" value="Shivansh"> <br>            
 Last name:<br> <input type="text" name="lastname" value="kumar"> <br> 
 <input type="submit" value="Submit"> 
 </form> 
 </body> 
 </html> 
 In the above code, the name attribute is missing (bold line ).  What will be the effect of not 

using the name attribute ? 
 (A) Value of that input field will not be submitted   
 (B) Value of that input field  will be submitted      
 (C) The above code will get an error    
 (D) None of these   
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99. यलद ऻम फॗमड एलिमंट मं टागेटठगॏण का मान "_blank" पर ऺॕट करतॕ ऻं तो रलतलरया या ऻोगी ? 

 <form  target="_blank"> ……. </form> 

 (A) रलतलरया शतडमान लशॠ्ो मं रदलषडत ऻोती ऻॖ।   

 (B) रलतलरया एक नई लशॠ्ो या टॖब मं रदलषडत ऻोती ऻॖ। 

 (C) रलतलरया मॐि रॕम मं रदलषडत ऻोती ऻॖ।  

 (D) इनमं ऺॕ कोई नऻी ॠ 

 What will be the response if we set  the value of  target attribute to “_blank”  in form element? 

 <form  target="_blank"> ……. </form> 

 (A) The response is displayed in the current window 

 (B) The response is displayed in a new window or a tab      

 (C) The response is displayed in the parent frame 

 (D) None of these  

 

100. एक िािी टॖग या दषाडता ऻॖ ? 

 (A) इऺ जॖऺी कोई अशधारणा नऻी ॠ।   (B) लोलजॠग टॖग की आशयकता नऻी ॠ ऻॖ। 

 (C) इऺमं कोई ऺामरी नऻी ॠ ऻॖ।    (D) उपरोि मं ऺॕ कोई नऻी ॠ। 

 What does an empty tag represent ? 

 (A) No concept like this.   (B) Does not require a closing tag. 

 (C)   It does not contain any content. (D) None of the above. 

 

- o 0 o - 
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